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Important notes about this examination

1. You have 45 minutes to write this examination.

You may use a pencil to write your solutions, although a very light pencil might be harder to read after scanning.

3. No textbooks or electronic devices are permitted. We permit a “cheat-sheet” consisting of one page of
handwritten or typed notes, on double-sided 8.5x11” paper.

4. Answer all the questions in the exam.

5. Good luck!

N

Student Conduct during Examinations

1. Each examination candidate must be prepared to produce, upon the request of
the invigilator or examiner, his or her UBCcard for identification.

2. Examination candidates are not permitted to ask questions of the examiners or
invigilators, except in cases of supposed errors or ambiguities in examination
questions, illegible or missing material, or the like.

3. No examination candidate shall be permitted to enter the examination room
after the expiration of one-half hour from the scheduled starting time, or to leave
during the first half hour of the examination. Should the examination run forty-
five (45) minutes or less, no examination candidate shall be permitted to enter
the examination room once the examination has begun.

4. Examination candidates must conduct themselves honestly and in accordance
with established rules for a given examination, which will be articulated by the
examiner or invigilator prior to the examination commencing. Should dishonest
behaviour be observed by the examiner(s) or invigilator(s), pleas of accident or
forgetfulness shall not be received.

5. Examination candidates suspected of any of the following, or any other similar
practices, may be immediately dismissed from the examination by the
examiner/invigilator, and may be subject to disciplinary action:

i.  speaking or communicating with other examination candidates, unless
otherwise authorized;

ii. purposely exposing written papers to the view of other examination
candidates or imaging devices;

iii. purposely viewing the written papers of other examination candidates;

iv. using or having visible at the place of writing any books, papers or other
memory aid devices other than those authorized by the examiner(s); and,

v. using or operating electronic devices including but not limited to telephones,
calculators, computers, or similar devices other than those authorized by the
examiner(s)—(electronic devices other than those authorized by the
examiner(s) must be completely powered down if present at the place of
writing).

6. Examination candidates must not destroy or damage any examination material,
must hand in all examination papers, and must not take any examination material
from the examination room without permission of the examiner or invigilator.

7. Notwithstanding the above, for any mode of examination that does not fall into
the traditional, paper-based method, examination candidates shall adhere to any
special rules for conduct as established and articulated by the examiner.

8. Examination candidates must follow any additional examination rules or
directions communicated by the examiner(s) or invigilator(s). 1
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0. IDENTIFICATION

Please make sure that the following is your 8-character Student ID:

Student ID:

Your answer to each problem should be written on its
page; if needed, you can use the back side of the page
as well.
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1. QUESTION 1. (10 POINTS, 2 POINTS PER CORRECT T /F ANSWER — NO PENALTY
FOR INCORRECT RESPONSES)

Circle either T for true, or F for false, for each of the statements below. In these questions,
Y, = Yascn denotes the ASCIT alphabet, Ly, Ly C ¥*, Ly \ Ly denotes the set difference of
L and L.

Let f: A— B and g: B — C. If f is not injective, then
gf: A — C is not injective.
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Let L be the set of strings of digits that represent base 10
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2. QUESTION 2 (5 POINTS)

Let 3 = {a,b}, and let L C ¥* be the set of strings ending in a whose length is at least
two. Hence L = {aa, ba, aaa, aba, baa,bba, . ..}. Build a DFA that recognizes L and briefly
explain how your DFA works.

,%c@oo‘—*gcgl/&/%g&

Vobvaon l\

Cﬂ» AN Veéc\«ﬁg ng“k’r one [e%—‘rcr (»\c. Sywloow

CL& DCLB ave P@G\QIf\QJ c\“é;}(ir’ cct (eaSVL Z Le«l«%e(%

%c\ Mecnc ’fk\c S’h‘b\f\ﬁ CUN et L\] c«:w\o)s A N

Lo L \l:)
\ >\ i « v
Qo

T\(\Q S“{'H']LQ Cib\ JCL)O ‘\i (gg;)f@\rv\/u\/\c() b\ll "H/\L LQd

COM e X S\]m\od\J Gu\t) L\eV\LQ \J\)L\ew A %\ ’i“’ib/

wne ’f(\cf\s’\“lﬁ'mf\ {’o %0\ (617N \r\cc\)\ns TN /'c\:\ amc>

+¢ CLQ oV J\tczvlw\ca o La wc “Hf\yf‘Q,Q &(,ccp‘t e,
Slcm\A% N G cnd e cd the others,

go\\)bﬁmll‘ bdg N N\Cfﬁé C’(\ QA) ?b) SN

‘—l./\h@,\l s, 4he  <enne &Cccp%w\s fu&kumgj <.



'CVOVV\ Ct\ o0 %b we " dd /\;ﬁ C\CC,C(D%)
Move To Cia OV \I\‘CC-JI/\(\j ZWaN /'0\\; W\J
rone o 9o O N&Q\V\ﬁ o b

H enie,



Exam. Student # Page 5

3. QUESTION 3 (8 POINTS)

Let 3 = {a,b}, and let L C ¥* be the set of strings ending in a whose length is at least
two. Hence L = {aa, ba, aaa, aba, baa,bba, . ..}. (This is the same language as in Question 2.)
Use the Myhill-Nerode theorem to prove that any DFA recognizing L must have at least four ]\ ~ee
states. You must therefore determine AccFuty(s) for four values of s, and explain why these A

sets are all different.
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4. QUESTION 4 (5 POINTS)

What is the eventual period of L = {a* a®}? Explain. (You get no points for simply
giving a number; you must explain.)
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5. QUESTION 5 (5 POINTS)

Let Ly, Ly be Duck-recognizable. Is L; U Ly Duck-recognizable? Explain why or why
not. (You get no points for simply answering “yes” or “no”; you must explain.)
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